
 

 

 

 

 

cg';"rL 26 
lgod 39sf] pklgod -1_sf] v)* -km_;|u ;DalGwt_ cf=j= 2073.074 



-6485950.00 2155050.00 -4330900.00 

;fgf] gubL sf]if :yfkgf 25000.00   25000.00 

bflvnf ug{ af|sL s/s [̂L /sd -39303.00 -652476.00 -691779.00 

bflvnf ug{ af|sL w/f}^Lsf] /sd 0.00 -2134082.00 -2134082.00 

bflvnf ug{ af|sL ;fdflhs ;'/Iffs/ -289.65 -15591.60 -15881.25 

bflvnf ug{ af|sL sd{rf/L lxtsf]ifsf] /sd 0.00 -137500.00 -137500.00 

bflvnf ug{ af|sL dd{t ;Def/sf]ifsf] /sd -511344.00 0.00 -511344.00 

bflvnf ug{ af|sL aLdfsf]ifsf] /sd 0.00 -12433.00 -12433.00 

bflvnf ug{ af|sL z'enIdL kmfO{gfG;sf] /sd 0.00 -51560.00 -51560.00 

bflvnf ug{ af|sL lgdf{)f Joj;foL sf]ifsf] /sd   -42409.79 -42409.79 

bflvnf ug{ af|sL c:yfoL sd{rf/L sNof)fsf/Lsf]ifsf] /sd 0.00 -3200.00 -3200.00 

v'b gub vr{ 354943077.01 57935083.60 412878160.61   

cfDbfgL / sf]ifsf] cj:yf 

lgsfzf af|sL df}Hbft 

ljj/)f /sd vftf ljj/)f /sd 

1= ut jif{sf] df}Hbft c=Nof= 
1775043

5.64 
1= uô4ô1     74249689.00 

2= s/, z'Ns tyf b:t'/ k\fKt 
4941513

7.14 
2= uô4ô2 

  
8064350.00 

3= hg;xeflutf 
1248485

1.00 
3= uô4ô3  

  
4168558.34 

4= g]kfn ;/sf/sf] cg'bfg 

 

4= uô4ô4  
  

32643.00 



s_ g=kf=cg'bfg rfn', 3658033ô26312 

1062600

0.00 
5= uô4ô5 

  
3005314.19 

v_ g=kf=lgzt{ k"|hLut cg'bfg, 

3658033ô26321 

7188600

0.00 
6= uô4ô6 

  
0.00 

u_ g=kf=;zt{ k"|hLut 

cg'bfg,3658033ô26322 

1000000

0.00 
7= uô2ô1 

  
535983.53 

#_ ;fdflhs ;'/Iff eQf, 3650153 
1037832

00.00 
8= uô2ô2 

  
2987002.75 

<_ PnhLl;l*kL rfn', 3658193ô26312 
6772000.

00 9= cfOo"l*kL, r=lx=g+= 2998  
61781047.37 

r_ gu/If]q k"jf{wf/ ljsf; sfo{qmd, 

3658173ô26322 

9000000

.00 
10= /fhZj gub df}Hbft 

 
2985814.54 

5= gu/ ljsf; sf]if cg'bfg 
7526635.

00         

6 gu/ ljsf; sf]if cGo of]hgf C)f 
3763316.0

0         
7= gu/ ljsf; sf]ifaf^ vfg]kfgL cfof]hgf 

C)f 

8886507

4.00         

8= PsLs[t ;x/L ljsf; cfof]hgf 
1509177

78.55         

9= w/fg vfg]kfgL af]*{sf] ;fk^L 
7800000

.00         

10= ef/tLo b"tfjf;af^ k\fKt 
411215.0

0         

11= zx/L ljsf; tyf ejg lgdf{)f ljefu 
1751700.

00 
  

  
  

12= dfnkf]t /lhi^̀]zg z'Ns 
11577643

.00 
  

  
  

13= ;*s af]*{ g]kfnaf^ k\fKt 
6357578.

00 
  

  
  

o; dlxgf ;Ddsf] hDdf lgsfzf 
5706885

63.33 
  

  
  

o; dlxgf ;Ddsf] hDdf gub vr{ 
4128781

60.61 
        

o; dlxgf ;Ddsf] af|sL df}Hbft 
1578104

02.72 
hDdfM 157810402.72 

 


